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LINEAR INEQUALITY

Two Marks Questions With Answer

1. Solve 30z < 200, when (i) is x a natural

number



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oxpcWryoojn3

° Watch Video Solution

2.Solve 30z < 200, x is an integer

° Watch Video Solution

3.Solve bz — 3 < 3x + 5 for real x

° Watch Video Solution



https://dl.doubtnut.com/l/_oxpcWryoojn3
https://dl.doubtnut.com/l/_QIZ1XFXpuO8W
https://dl.doubtnut.com/l/_GElte4wigJsS

4. Solve —12x > 30, when (i) is a natural

number

o Watch Video Solution

5.Solve — 12z > 30, x is an integer.

o Watch Video Solution

6.Solve 5z — 3 < 7 when ,xis an integer

o Watch Video Solution



https://dl.doubtnut.com/l/_ODe0RpzaMvya
https://dl.doubtnut.com/l/_Sr3iQficpSf0
https://dl.doubtnut.com/l/_Y6f71rMoEc1b

7.S50lve bx — 3 < 7 when , xis real number

° Watch Video Solution

5 — 2x

8. Solve — 10

XL
< Z
— 6

° Watch Video Solution

9.7z — 2| < 11

0 Watch Video Solution



https://dl.doubtnut.com/l/_Y6f71rMoEc1b
https://dl.doubtnut.com/l/_oNiEHnefOrBH
https://dl.doubtnut.com/l/_djDyyhBJv3YP
https://dl.doubtnut.com/l/_YXRGbe8J2GIT

10.Solve 4z + 3 < 62 + 7

° Watch Video Solution

3(z — 2) 5(2 — x)

11. Solve <
5 - 3

° Watch Video Solution

12.50hve ~ (22 4 4) > ~(x — 6
.Ovei ? _§(m_)

0 Watch Video Solution



https://dl.doubtnut.com/l/_YXRGbe8J2GIT
https://dl.doubtnut.com/l/_mhHQ8R1pV7Bk
https://dl.doubtnut.com/l/_t9mmQffuBXzm
https://dl.doubtnut.com/l/_nLrkWQyEMc2Z

13.Solve 37 — (3 + 5) > 9z — 8(x — 3)

° Watch Video Solution

x + 8

2
T — 2 -

14. Solve

° Watch Video Solution

15.Solve 5z — 3 > 3z — 5 and show the graph

of the solution on a number line.



https://dl.doubtnut.com/l/_nLrkWQyEMc2Z
https://dl.doubtnut.com/l/_AlWGoKBL7eSV
https://dl.doubtnut.com/l/_8oeTSIVTpowq
https://dl.doubtnut.com/l/_5WCzDQB7ekei

° Watch Video Solution

16. Solve 3(1 — z) < 2(z + 4) and show the

graph of the solution on number line.

° Watch Video Solution

3(z — 2) 5(2 — x)

17. Sol <
olve = < 3

° Watch Video Solution



https://dl.doubtnut.com/l/_5WCzDQB7ekei
https://dl.doubtnut.com/l/_UiADbhgRLeJA
https://dl.doubtnut.com/l/_kYpYOw3ZrWwj

18. Solve 7z 4+ 3 < 5z + 9. Show the graph of

the solution on number line.

° Watch Video Solution

19. Find all pairs of consecutive odd numbers,
both of which are larger such that their sum is

less than 40.

° Watch Video Solution



https://dl.doubtnut.com/l/_EFvgMDaOeB6v
https://dl.doubtnut.com/l/_Lw8CBOSPEGmX

20. Ravi obtained 70 and 75 marks in first two
unit tests. Find the minimum number should
get in the third test to have an average of at

least 60 marks.

o Watch Video Solution

21. Find all pairs of consecutive odd numbers,
both of which are smaller such that their sum

is more than 11.

° Watch Video Solution



https://dl.doubtnut.com/l/_BHVnpjWBgh2e
https://dl.doubtnut.com/l/_ScKx54hgyJSw

22.The longest side of a triangle is 3 times the
shortest side and the third side is 2 cm shorter
than the longest side. If the perimeter of the
triangle is at least 61 cm, find the minimum

length of the shortest side.

o Watch Video Solution

Three Marks Questions With Answer

1. Solve graphically 2z 4y > 6


https://dl.doubtnut.com/l/_ScKx54hgyJSw
https://dl.doubtnut.com/l/_rLsocu3Xqulr
https://dl.doubtnut.com/l/_8MGuSMtt17wZ

° Watch Video Solution

2. Solve graphicallyy + 8 > 2z

o Watch Video Solution

3.Solve graphically2z 4y > 6

° Watch Video Solution



https://dl.doubtnut.com/l/_8MGuSMtt17wZ
https://dl.doubtnut.com/l/_mLB9EB2rIJsV
https://dl.doubtnut.com/l/_uhwKOk5imcls

4. Solve graphically the inequation

x+2y—4<0

° Watch Video Solution

5. Solve the system of inequalities
Jr —7<z+5

11 -5z <1

o Watch Video Solution



https://dl.doubtnut.com/l/_gax57OqGYTsU
https://dl.doubtnut.com/l/_fWelWKo37HjU

6. Solve the following system of inequations in
2 variables graphically:

z+2y>20,3z +y<15

o Watch Video Solution

7.Solve the following system of inequations in
2 variables graphically:

r—y<22r+y<6,r>0,y>0

° Watch Video Solution



https://dl.doubtnut.com/l/_SlEjerASNRN2
https://dl.doubtnut.com/l/_Kmj1otceIzCG
https://dl.doubtnut.com/l/_i94eIRVJIw5F

8. Solve graphically

3r +2y< 12,z > 1,y > 2

° Watch Video Solution

9.Solve graphicallyz +y > 4,2z —y > 0

° Watch Video Solution

10. Solve graphicallyz +y < 9,y > z,z > 0

° Watch Video Solution



https://dl.doubtnut.com/l/_i94eIRVJIw5F
https://dl.doubtnut.com/l/_oLMR2Qav97PU
https://dl.doubtnut.com/l/_k02SWcywFAdL

1. Solve graphically

2r+y>4e+y<3,2x—-3y<br>0,y=>0

° Watch Video Solution

12. Solve graphically

zr+2y<10,z+y>lLz—y<0,y<0

° Watch Video Solution



https://dl.doubtnut.com/l/_yXbczbouYdK4
https://dl.doubtnut.com/l/_KVFu3keBm1YV

13. Solve graphically

x+2y<10,z+y>l,z—y<0,y<0

° Watch Video Solution



https://dl.doubtnut.com/l/_71FKEuw83YHb

